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This Question Booklet contains 40 Multiple Choice Questions
followed by 10 Short Answer Questions.
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Attempt as many MCQs as you can. Each MCQ carries 3
(Three) marks. 1 {One) mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question. If more than one alternative answers of MCQs seem
to be approximate to the correct answer, choose the closest one.
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Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.
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01. Which is not truc for reactions by the 8,2 mechanism ?
(1) proceeds through a backside attack and results in inversion
(<) tends o proceed with weak nucleophiles solvents tike CH,OH,
H,0, CH,CH,OH.
(3] rate of reaction prucceds from primary {fastest) » secondary ==
tertiary (slowest)

(4) occurs in one step

02. Which is the main product of the following reaction ?

VA VAN McOH

1 ¢l + NaCN —————
(1) NC/\/\I (2) NC/\/\CE
(3) MeO/\/\CE (4) MCI

03. Which of the following conditions is necessary for a reaction to be

spontaneous ?
(1) a8, >0 2) AS8,>0

(3) aS,,*+aS,>0 4] aS..* a5, <0

sur sys

04. Dead organs are generally stored in formalin. Formalin is :
(1) aqueous formaldehyde (2) aqueous ferrous sulphate

{3) aqueous formic acid (4) aqueous ferric alum
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05.

06.

07.

08.

894 /Home Science [Science)

Regarding “carbon credits”, which one of the following statement is
not correct ;

(1] The carbon credit system was ratified in conjunction with the
Kyotoe Protocol.

(2] Carbon credits are awarded to countires or groups that have
reduced greenhouse gases below their emission quota.

(3] The goal of the carbon credit system is to limit the increase of
carbon dioxide emission.

(4) Carbon credits are traded at a price fixed from time to time hy
the United Nations Environment Progrmme.

Ball bearings are used in bicycles, cars, etc., because :
{1) the actual area of contact between the wheel and axle is increased.

(2) the effective area of contact between the wheel and axle is
increased

(3) the effective area of contact between the wheel and axle is
reduced

(4) the actual area of contact between the wheel and axle is reduced.

During respiration, energy is released. It is stored in the form of :
(1) ADP (2) ATP (3) NADP (4) APP

Which of the following is known as Royal disease :
(1} Sickie cell anemia (2) Haemophilia
(3) Alzheimers disease {4) Colour blindness

09. The xylem in plants is responsible for :

(1} transport of water (2) transport of food

(3) transport of oxygen (4) transport of amino acids

S P.T.O.
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10.

11.

12.

13.

14.

15.

16.

Two wires, of the same material, have their lenghts in the ratio 1:2
and ther diameters in the ratio 2:1. If both are stretched separately

by equal weights, the ratio of increase in their lengths, L@ L, would
o s Tl

(1) 1:2 (2] 21 (3) 1.8 (4) 8:]

The functional component of two important co-enzymes-NAD and
NADP i

(1) Riboflavin (2} Niacin

(3} Thiamine (4) Pyridoxine

In ABC’s of Journalism ‘A’ stands for :
{1}  Awakening (2) Attraction
(3) Accuracy {4) Acccss

Research design of a study should not include :
(1} Findings (2) Objectives
(3) Hypothesis (4) Blue print of research

The main cause for ciliac disease is :
{1) Defect in microwvilli (2) Defect in Hepatic cell.
(3} Defect in Gastric mucosa (4) Defect in 2-cells of pancreas

Putrefaction of meat is the result of excessive breakdown of :
{1} Carbohydrates (2) Fats
(3] Proteins (4) Calcium

In montessory system of pre-school education teaching, the children
are learnt :

{1) First writing then reading
(2) First reading then writing
(3} Only rcading

{4) Both reading and wnting
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17.

18.

19,

20.

21.

22.

Thurstone and Lickert are associated with measurement of -
(1) Intellegence (2) Attitude

(3) Values (4) Personality

Women Empowerment “vear” was [irst recognized in the vear :

(1) 2001 (2) 2002 (3} 1999 (4) 2000

The enzyme which converts inactive trypsinogen into active trypsinogen

15
(1) Enterokinase (2) Galactase
(3} Rennin (4) Insulin

Training and visit system of extension was first introduced in :
(1) Turkey (2) India
(3} Israel (4) Iraq

The first page of the research report is :
(1) Acknowledgement {(2) Index page

(3) Title page (4) Preface page

Which of the following adopters have more openion leadership in the

society ?
(1) Innovator {2) Early adopters
{3) Early majortiy (4) Late majority

7 P.T.O.
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23.

24,

25.

26.

16-PF is used to measure which of the following :
(1}  Creativity (2} Interest

(3) Personality (4) Stress

Which stage of life is considered as ‘Empty nest’ ?

{1) Early adolescence {2) Late adolescence
{3) Early adulthood (4) Late adulthood

Gagne is associated with which of the following :
(1) Hierarchical order of learning

(2) Theories of learning

(3} Evaluation of learning

(4) Management of learning

Wetting agents are used mainly :

(1) For washing fabric

(2) For removing moisture from fabric
(3) For removing metallic 1on

(4) To reduce the surface tension of the aqueous solution
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27. Which one is important characteristic of pigment ?

28.

29.

30.

31.

(1) Pigment do not have affinity towards Textile fibers.

(2) Pigments are aiso dyes.

(3) Pigments enter in the fiber core

(4) Pigments are water sofuble

[n first five year plan, non-formal education of rural youth programme

covered age group of :
(1) 15 - 25 years

{3) 15- 35 years

Autism is a :
(1) Developmental disorder

(3) Emotional disorder

(2) 15 - 30 years

(4) 18 - 35 years

(2) Social disorder

(4) Disorder related to play

Which proteolytic enzyme is able to digest collegen is ?

(1) Galactase

(3) Rennin

Kleinfelter Syndrome is :
(1) Trisomy 21

(3} XO

(2) Pepsin

(4) Maltase

(2) XXY

4) XYY

P.T.O.
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32.

33.

34.

385.

36.

Scurvev is a disorder of deficiency of :
(1} Vitamin B, (2} Vitamin D

{4} Vitamin C (4) Vitamin K

Vygotsky's theory 1s also known as :
(1) Psychoanalytical theory

(2) Socio-cultural theory

(3) Cognitive development theory

(4)  Social behaviour theory

NEEM stands for :

(1} National Extension Education movement
(2) National Elementary Education movement
(3) National Extension Education mission

(4) National Elementary Education mission

Enquiry learning is conducive for developed of :
{1} Imagination {2} Creativity

(3) Cognitive Skills {4) Memory

An Indicator of Body fat content is :

(1) MRI (2) BMI (3) BMR

10
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37.

38.

39.

DWCRA programme was started in the year :

(1) 1981 (2) 1979 (3) 1982 (4) 1980

Communication is the process by which messages are transferred
from a source to a receiver according to

(1} Ban and Hawkins (2) Dhama and Bhainagar
(3) Adivi Reddy (4) Rogers and Shoemaker

Which of the following is not a defence mechanism ?
(1) Association (2) Regression
(3) Compensation (4) Sublimation

When capillaries in glomeruli are inflamed it is called
(1) Glomerulonephritis (2) Pyelonephritis
(3) Cystic Kidney (4) Nephrosclerosis

11 P.T.O.
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Short Answer Questions

Note: Altempt any five questions. Write answer in 150-200 words. [Lach
question carries 16 marks. Answer cach question on separale page.
after writing Question Number.

01. Sampling Techniques.

02. Mal nutrition causes and prevention.

03. Explain developmental task.

04. Importance of study of epidemiology.

05. Importance of thinking and learning.

06. Role of Textile Industry.

07. Importance of study of Home Science and its areas.
08. Need of sellf Employment.

09. Qualitative Research.

10. Origen of Extension Education.

12
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Question No. Page for Short Answer
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Page for Short Answer
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